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OXEZA ACIHOIE X/
64,247,360 64,248
= 32,124
T 32,124
&A= Sg ANESA 28 It ABlA XI& 4,192 4,818 2626
= 2,09
- 2,09%
307 212t01 & 4,192 4,818 2626
= 2,0%6
T 2,09%
05 EIR”HAE S 4,192 4,818 NB26
OXNESA BE2 4,192,000 4,192
= 2,09
T 2,09
HERATAEAS 25 Ad 2,000 2,000 0
307 212t01& 2,000 2,000
02 QIZHHLAIHE L 2,000 2,000
OUBHATAZAS &S X2
2,000,000& 2,000
MR 54 669,058 700,822 31,764
| 108,231
Al 68,760
T 459,945
= 32,122
MEHE 2435 669,058 700,822 A31,764
J| 108,231
Al 68,760
T 459,945
= 32,122
NE2s =2FJIR 2Y 106,8%4 104,425 2,469
301 Et2E = 106,8%4 104,425 2,469
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FA SHYXE D
3 dENE 54
Chel: MENs 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
R2ist - 2SFS2EYs 106,894 104,425 2,469
OXYES +=83II% 29 106,894
o827 1053) 2,819,500« 123 33,834
o88(72 983) 2,723,900 128 32,687
cHERIHI(TES 10&3)
2,819,500 *120% 3,384
CHAHSIHI(72 988)
2,723,9003 *120% 3,269
ozdsd 100,000 <2~ 122 2,400
oz &l 130,000& x2&* 123 3,120
o ==H| 100,000 x2&* 123 2,400
oFet| 1,500,000 x2&H 3,000
cEHNZ0EY=E 3,000,000& x2&H 6,000
ofd=za SH0H
600,000 x2H +53] 6,000
CLI=HI(4+T2, 42, 47, FY= 5)
1,600,000 x2H 3,200
oUIEHN A= 100,000 x2& x22| 400
o=zl 0l o=
600,000 x2 2 +53] 6,000
o 22 B4 300,000 x2H *23] 1,200
SUIHMSAIE 2l 117,000 134,500 A17,500
201 er23| 6,800 6,800 0
01 At2tltl 1,000 1,000 0
OSUIMSAIE 28 AtR2ct]
1,000,000 1,000
02 S3=gHl 5,800 5,800 0
O&J| - Yot 2= 400,000+ 123 4,800
OMSAIE=E SXE e SH=IH|
1,000,000 1,000
401 Al HIZL 2018 110,200 127,700 A17,500
01 Al&H| 110,200 127,700 A17,500
OSUIM=AIE Sl 60,000,000 60,000
OSROIHHESRT AL H|
20,000,000 20,000
OSYLZ HSTH x4
30,200,000 30,200
H=AL &It X2 34,070 24,070 10,000
307 glztol & 34,070 24,070 10,000
02 2B YA E X 34,070 24,070 10,000
OAIZH WEE d&U=l It X3
1,570,000& 1,570
OAIZHH HOIESUHE &It XI&
2,000,000 2,000
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A SHEXR L
M MBS SA
el MEis 24835t (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
ORLAIEM=HE HIH X2
16,500,000& 16,500
ORLHAl e dEM=zl ZIF XA
2,000,000 2,000
ORLHAl 0124 dEM=Ue I XA
2,000,000& 2,000
Oog=tel 221 tHal Nzl K&
10,000,000 10,000
0 MEH=s X 17,700 52,750 A35,050
201 er2 3| 200 200 0
01 AtR2t2|HI 200 200 0
OWEM= JI5 AHEIH 20,0002 102 200
203 2R =L 10,000 10,000
03 A=A R FAIH| 10,000 10,000
Odgx= 243 10,000,000 10,000
401 Al HIZL 2018 7,500 3,000 4,500
01 Al&H| 7,500 3,000 4,500
OZYMSZ S SA 7,500,000 7,500
dHEHNSUY 29 36,287 37,467 21,180
Al 11,730
T 24,557
307 @I2to1 & 36,287 37,467 A1,180
Al 11,730
T 24,557
05 2IR”tRIE = 36,287 37,467 A1,180
OdgN=suA 16,667,000 16,667
Al 5,000
- 11,667
O0lgl0l Hsua 3,000,000& 3,000
Al 1,500
- 1,500
OFAHE XNEuwa 2,860,000& 2,860
Al 1,430
- 1,430
O=H=Us 9,760,000 9,760
Al 1,800
- 7,960
O= b2 M dEMs 483
4,000,000& 4,000
Al 2,000
- 2,000
=7 =3 A 73,672 72,200 1,472
Al 30,000
T 30,000




FA SHYXE D
M MBS SA
Chel: MENs 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 13,672
307 gl2tol & 73,672 72,200 1,472
Al 30,000
- 30,000
= 13,672
03 PIHHEE 22X 73,672 72,200 1,472
Os+ M=3 X2 60,000,000& 60,000
Al 30,000
- 30,000
OH=3l AR SXE 13,672,000 13,672
= 13,672
2ot HEHMS A=A B 89,391 87,696 1,695
Il 44,695
- 44,696
307 21201 & 89,391 87,696 1,695
Jl 44,695
- 44,696
05 2ItRIE = 89,391 87,696 1,695
Oget S A X
2,483,080 «3E « 12 89,391
Jl 44,695
- 44,696
Hed HEMSFAEAL B 59,594 58,464 1,130
Jl 29,796
- 29,798
307 21201 & 59,594 58,464 1,130
Jl 29,7%6
- 29,798
05 2ItRIE = 59,594 58,464 1,130
Ool24l &M= BRI
2,483,080 x2E« 12 59,594
Il 29,79%6
- 29,798
et o2 HERSAEN X2 Hd 38,250 16,050 22,200
Al 19,800
= 18,450
307 @120l & 38,250 16,050 22,200
Al 19,800
= 18,450
05 2ItRIE = 38,250 16,050 22,200
Oget- o224l HEHFSNE M IS (Al
Bl) 19,800,000 19,800
Al 19,800




FA SHYXE D
M MBS SA
Chel: MENs 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot oj2al MEASNEA S HA
18,450,000& 18,450
= 18,450
AE=2AL 018A X 45,000 45,000 0
Il 31,500
Al 6,750
- 6,750
307 212+01& 45,000 45,000 0
Jl 31,500
Al 6,750
- 6,750
05 git?(& = 45,000 45,000 0
OAZ=AH 0122 N
45,000,000 45,000
7l 31,500
Al 6,750
- 6,750
0 AXXAL 018 XA 3,200 3,200 0
Il 2,240
Al 480
- 480
307 @20l & 3,200 3,200 0
Il 2,240
Al 480
- 480
05 212t S 3,200 3,200 0
OFOjY ATXAH 0|22 XD
3,200,000 3,200
Il 2,240
Al 480
- 480
-2 HEH s gdat N 33,000 30,000 3,000
307 gl2to| & 33,000 30,000 3,000
02 QI AAEE X 33,000 30,000 3,000
OSE & d2H=UHa
23,000,000& 23,000
OSTH=3 & HEM=SUHS
10,000,000 10,000
NAAE=SY 2 15,000 35,000 220,000
307 elztol & 15,000 35,000 /20,000
02 2IZHBYAIHE & 15,000 15,000 0
OXNgAZ==¢g eld| K&
15,000,000 15,000
Tolo] otMet ME 2F 32,250 33,000 AT750
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SN BETRD
Mm: 00 OIXEH ME DA
Chol: OIXBH 10l ME DRSS 98 X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ortdet A8 dEg 2¥s gt XN 32,250 33,000 AT50
oidl2 s4X& 30,000 30,000 0
308 XXM SOIA 30,000 30,000
10 0HlZsdA2gdydEx 30,000 30,000
O4tity oldl2 =4 X2 30,000,000& 30,000
BI&ALERTHBl DS =Xl 2,250 3,000 AT50
201 fet=2 3| 2,250 3,000 AT50
01 AtR2t2|HI 2,250 3,000 AT50
OXHHl S=HE M=
15,0002 *30+55 2,250
2SS4 HYAHIA RS € lZet 75 798,062 790,842 7,220
2S48 NHIA 235 798,062 790,842 7,220
2S48 AlE |]AXL 2 137,986 203,749 A\B5,763
201 eer23| 137,986 203,749 65,763
01 AtR2t2|HI 7,060 8,560 21,500
Os=Y & OFAA HEEHl BX=
1,500,000 *32] 4,500
ORAMESI] A28 7Y 880
oM X 20,0003 58 A 100
o EUIELIX 130,000 *6H 780
OFESNE RN SEH|
8,000 x6& »35 1,680
02 35244l 130,926 195,189 N64,263
Oy Mgt Hiless
3,366,000& «12& 40,392
Oditdel JlEges
4,000 940 A+ 128 4,512
OIAZAAMHIA 30,0002~ 122 360
OdEg3H(T/0) AEZ
23,0002 x5 A+ 123 1,380
OFUdz AME= 70,0002 #4CH* 122 3,360
OCATV== & = 8,8003 440 x 122 4,647
OSTHAIX M~ 258
2,500,000~ 128 30,000
OMHYl A LTSt A=
33,0002 <2CH+ 123 792
ORHILAINSIAHIA AIZE
400,000& x12& 4,800
O23201I0l 3l AI8E
33,0003 11042+ 123 4,3%
OFUER eI (2E) KX
169,013,000 8% 13,522
OIPE3| S XIdI 4,731
o228 P3| (5900H)
113,960,000 3% 3,419
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2A:

SH: SN (OMHA MT L olmet 7
e HESN AHIA 23 (crsp ma)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NS E(S)IPHESIII(50CH)
17,150,000 =3 515
o8 (et IPE3I(300H)
26,550, 000 <3 797
ORNEEI| (2h) S|
502, 7002 +3% 16
OnB YERY S
23,210,00021+5% 1,161
OAIE P& EHI(20) S|
5,500, 5002 *5% 276
Otisola gaayl S|
88,048, 21021 +5% 4,403
OIS ALY S|
8,150,000 *5% 408
ORUYSHEE 24 (4D A S)
1,500,000 <241 3,000
OPREBARI || 1,636
o RHETAT T (20KVA)
15,333, 000 *5% 767
o RHE AT (30KVA)
17,350, 00021 *5% 863
OSH3 "ZH KA
35,330,680 +5% 1,767
OAFBEBAHS Y S|
20,550,000 +3% 617
OE=EST = || 5,820,000 x3% 175
OZAH SAIH 12,214,000218% 3,378
=3/222 AAE 22 S
24,750,000 +5% 1,288
SESANAE HH 2 DT5 22,000 19,360 2,640
405 THoHH =B 22,000 19,360 2,640
01 I L ZEF=Y| 22,000 19,360 2,640
OOIEA 4= 1) 7,000,000 %14 7,000
OSTAIAE HHi 2
15,000, 00024+ 141 15,000
CVEAIOIRE D= 120,236 117,574 2,662
201 ErE ] 34.7% %, 174 1,562
T 34.7% %, 174 1,562
OREE 0OV S| 276,468, 0002 5% 13,824
OFLY 2HESCV S
18,390, 24021 *5% 920
OsleAEE 88,0002+ 157} A+ 122 15,840
omJlez 8,002 4204 2 128 4,09
OHIAY 3lH= 5, 00021420} 4 128 120
201 AEHIZ 20| 85,500 84,40 1,100
01 A 85,500 84.400 1,100




2A:

S HPSM OMHIA M2 L AT 25
ol 2SS MHIA 2st (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCCTV & & 1,200,000 35CH 42,000
OCCTV LED CHHEXIE &XI
350,000 *300H A 10,500
OXlsg CCV &t &X
3,300,000 104! 33,000
2S48 BIFAHA 900 900 0
201 er2 3| 900 900
01 At2tltl 900 900
OArEEZAIEHl WEH| 900,000 900
SMEENEEZE 2Y 13,913 13,244 669
201 fer23| 13,913 13,244 669
02 S3=gHl 13,913 13,244 669
ORMEENEEZ 2|
13,912, 120& 13,913
CCTV SE2MUEH 23 503,027 436,015 67,012
101 e124d| 330,576 316,654 13,922
M ORNZZ2NSE S 330,576 316,654 13,922
ogds cv 330,576
ST 84,3033 x 122 +200 202,328
oFsag 84,3033 x 12 x40 40,466
o H\XFItd 84,3033 x 12«8 8,094
cMEz 2
3,2813 %12 248 9,765
oORI2Z2sE
84,3033 *50%+ 12«64 32,373
ogdIRrY
84,3033 »150%* 12& x202 30,350
oFXILE 300,000& *12H 3,600
ocHEANS 300,000& *12H 3,600
201 er2 3| 85,871 69,261 16,610
01 At2teltl 6,550 6,550 0
OS2t 223 B4+¢
100,000 5& »23] 1,000
OSE2HHE 2434l 200,000 * 128 2,400
OFLUHE A 2HH| 150,000 «62 900
OMZEZHHME 2ors/W7 e (2ol dlA)
562,500 +44] 2,250
02 S3=gHl 79,321 62,711 16,610
OCCTVESE 2 NIHIE AIAE =] 79,321
SH/MW AIAE 865,289,020 *5% 43,265
oS/ AIAE 300,465,700 *12% 36,056
405 AHatE = 86,580 50,100 36,480
01 ML ESF SHI 86,580 50,100 36,480
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2A:

SH: SN (OMHA MT L olmet 7
&R AESA MPlA 25 (CHol: &S1)
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
OTHLHSEAEA O X} F20H
350,000 = 164 5,600
OCCTV M&EHAHI(AERIX) =S4
50,100,000 x 14! 50,100
OYGAINEZH] 2ol A 204
6,740,000& 2% 13,480
OS2 UM R
8,700,000& ~2CH 17,400
HMSAAH| (A XK ) 35,468, 153 34,955,632 512,521
ol 23| 35,173,315 34,651,859 521,456
228 olERAHY| 2 22 34,627,315 33,818,536 808,779
101 @1244| 25,913,099 24,879,778 1,033,321
e 25,913,099 24,879,778 1,083,321
o=3 19,674,963
CcNHYBH AST(TEE)
101,261,000&*1H 101,261
SHUDH K22 (42)
94,424 0002 x6H 566,544
MU =2 (53)
83,632,000 x36H 3,010,752
os2a 15,996,426
- 62 4,113,600 * 140+ 128 6,910,848
= 2,909,600&x135H 122 4,713,552
- 82 2,075,500&x 1258« 122 3,113,250
= 1,748,300 *60H * 122 1,258,776
o8z 15,996,426,000& x1/ 128 1,333,036
OAIRII 2242 (PEH) 1,500,390
o622 12,3213 *x34 A1 2+ x 109« 122 547,940
o7z 11, 1302 *34A| 2H+08H x 12& 445,022
o8z 9,992 *34A| 2Hx7 1« 128 289,449
9= 9, 160& *34 Al 2tx41H « 128 153,229
oM BHR 29,860
- 2=8H|IA 12,3213 *x80A| 2 1B x 128 11,829
1S XA
11, 1302 *80A| 2Hx 12 x 128 10,685
EZAI| A 11, 130@ *B5A| 2+ 12 x 128 7,346
o AIZ| BEZH T AL 34,890
6= 12,3213 *x45A| 2Hx2B x 128 13,307
8= 9,002 x5 A| 2 x4« 12& 21,583
O HE 1,725,370
o IIEsY 297,600
- B AH 40,0003 *300H * 122 144,000
< OFEE, HMAHA
20,0002 *x300& x 12& 72,000
- SMAHA 60,0003 *80H x 12& 57,600
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A SEXRAD
. HY2IZU(HF XA
cHol: ol oy| GO
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
P PNIE 100,0002 x20H 123 24,000
ox0tg& Y 1,500,000&*20H * 123 360,000
oHITEINZ 335, 160
250 &t 130,000 108G = 12& 168,480
- 2040/ & 110,0002 x20H 123 26,400
15 0] & 80,0002 44« 122 42,240
10504 60,000 *528 « 12& 37,440
50| A 50,0003 %1018+ 123 60,600
oRE2RsY 31,200
=3 50,0003 +20E «12& 12,000
S 40,000815402 123 16,200
oRHBRALY 50,0002 158+ 122 9,000
oleTRALY
15,996,426,000& *4., 1%*2/5 262,342
oJ|lsd38sY 36,000
e r=10Ip3 50,0003 x4« 12& 2,400
6=2~7= 30,0003 648« 12& 23,040
- 8=0/0t 20,0003 *44Z = 12& 10,560
SI|=dHELGIHZ 29,040
JISE L JIA 30,0003 ~68H«12& 24,480
S AADIA Y 28 F(8,93)
20,0003 =118+ 123 2,640
2HA(6,732) 10,0003 x16F + 122 1,920
cRAHR Y 50,0002 *33E *12& 19,800
oA+ 130,000 x5 » 123 7,800
o9 At=E 7,920
= 80,0003 x2ZF 123 1,920
6= 60,0003 x5« 123 3,600
- 7=20|3t 50,0003 x4« 12& 2,400
coZYURSE 53,748
QRN (MERZ2)
909,000 x 18+ 12& 10,908
TR 70,0002+ 124 122 840
2SS A 50,0003 «28ZF +12& 16,800
- O|ZJ| AL 50,000 x7H*12& 4,200
- =9 Al 250,000&x 1+ 123 3,000
2983 50,0003 *30F « 12& 18,000
S =] 70,0003 *78Z *12& 65,520
oA =XE RS
70,000 708« 12& 58,800
oA FXERY Jteta
30,0003 *508 123 18,000
oA 200,000& x2H =128 4,800
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SN HZTAD
Mz Y SAAH|(HH XKD
el i Eg| (St &)
SA - BB - S(3H) - MRAY - BES Ol &b ot e MimE=E)
oH|AZ2RLE 128,640
T E2
8,000 x6L x40+ 123 23,040
THHOH = =2 2 (R HAFEHAL)
8,000& x5 x220H x 128 105,600
o9yl - ZI|&1& = 50,000,000 50,000
OXFMUZAH|(REH)
140,000 *360H * 122 604,800
OYEFIH| 15,996,426,0002 x1/12%60% 799,822
OH IS AMH| 224697 ,290& 224,698
204 2R 4= AH| 747,000 697,800 49,200
02 AzE x| 747,000 697,800 49,200
OXNZEZH(72H) 747,000
oRHHE 500,000& x1H*12& 6,000
oRRHE 450,000 x1H*12& 5,400
Sl 400,000& x4~ 12& 19,200
obhad 250,000& x21H 128 63,000
Sl 175,000 *1158 x 128 241,500
o7g 165,000& 100 » 12& 198,000
o82~9=2 155,000& 115« 12& 213,900
303 ZAaZ 1,834,477 1,639,882 194,595
02 dtA0= 1,834,477 1,639,882 194,595
O~ a2 1,834,476,840& 1,834,477
M HA=RE2S 6,132,739 6,601,076 N468,337
01 H22E= 4,916,669 5,432,278 515,609
o922 30,991,827, 0002 *P% 2,789,265
ogdEz 30,991,827 ,000& *3.076% 953,309
(@IS ESESI= 2= =
30,991,827, 000& *3.6224% 1,122,648
Ol 2at2e=
30,991,827 ,000& *0. 166% 51,447
02 =20AHUEBEZ 1,216,070 1,168,798 47,272
O=0AHAUABE 2=
30,991,827 ,000& *3.495% 1,083,165
O QUL 22
1,083, 165,000 %x12.27% 132,905
HRALE olHA2HY| 324,907 330,792 N5,885
101 Q124d| 324,907 330,792 N5,885
02 JIEtX B 324,907 330,792 N5,885
OFJAZZ 324,907
oSz 198, 147
- A21(30E0] 4
4,270, 1003 x2H x 128 102,483
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SN SETRD
M HZYRIAZH(BEXEW)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-3 (153012)
1,993,000 x4 * 12 95,664
odI+d 11,730
H9I(30014)
4,270, 1002 ~500+2 »23] 8,541
- =g (154012
1,993, 0003 x20%*4 H <23 3,189
odIsd Jit= 3,120
25504 130,000 x2& * 122 3,120
SENE e 4,717
AR 2REH(3 )
12, 1193 =40AI 22+ 123 11,635
Aztel2RE(=3)
9,523 2 *40A| 2+ 4B <123 18,285
VRIS
4,040 xBAl 2t 1B #3652 1,797
cItEsd 5,760
BN, 40,0002 x62* 122 2,880
22 - X 20,0002« 12H* 122 2,880
oX¥rY 30,0002 x1& x 122 360
o HASAH 140,000& x62 123 10,080
o HES I 198, 147,000 *1/12%120% 19,815
oG JE A
198, 147,000& *1/12+0.86%5/30 2,367
oXgE2XY| 11,640
=Ry 175,000 x2S * 122 4,200
=& 155,000 x4~ 122 7,440
oditattiz 20,170,200& 20,171
2245 UHE23| 29,576 15,510 14,066
101 21AH| 29,576 15,510 14,066
02 JIEtME = 29,576 15,510 14,066
Od==5 29,576
o5 1,686,500& «12& 20,238
oA2t2=g 9, 1602 «34Al 2t 122 3,738
cESE 720
- i< A 40,0002 122 480
IE] 20,0002~ 12& 240
cE2RE(EB) 50,000& * 122 600
oHMZR+E(HHEE2R)
8,000& 62 +12& 576
odAHI A 140,000 ~ 128 1,680
o HE S I 1,686,500 x120% 2,024
SIOIHer 22X 1A S| 191,517 188,439 3,078
101 @124H| 112,616 111,749 867
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SN HZTAD
M HZYRAZH(BEXEW)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H| 294,838 303,773 28,935
2AII=3H 294,838 303,773 28,935
201 er23| 18,108 18,108 0
01 At2teltl 18,108 18,108 0
ORANE2g JlE=+8Hl 279,0002 362 10,044
OJlzge-4d Sl
8,000 x34!x28Z * 12 8,064
202 04| 97,920 106,080 28,160
01 =LHOLI 97,920 106,080 28,160
OJl=eieas oy
240,000 x34E « 12 97,920
203 HE=H] 131,630 131,585 45
01 D[22 HRFa| 102,300 102,300 0
o+3d 58,300,000& 58,300
osx3d 40,700,000& 40,700
OXXHE=E 3,300,000& 3,300
02 HRAJMAHARFEIH| 23,690 23,645 45
0833 g S HANIHH (=)
(80,0002 1002 )+(60,0002 *200% )+(45, 0002 *
8221) 23,690
% SN2 HRETY| 5,640 5,640 0
OSMER2H
(400,0002445,0002 142 )~ 122 5,640
204 MR AH| 45,600 46,800 1,200
01 MG HI=HAHH| 45,600 46,800 21,200
OAHAZPR+AHHI(F2F) 45,600
o1¥Y 650,000& x1H*12& 7,800
ofAHY 400,000 «1H*12& 4,800
o=F(4=) 350,000 «3H*12& 12,600
o&, H(53) 100,000« 17+ 122 20,400
405 KHaHE SH 1,580 1,200 380
01 AL =S F = 1,580 1,200 380
OAIR4 I3 7 1,580
oHI0I= 300,000 *1H 300
SN 160,000 ~8H 1,280
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